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Note : First 15 minutes are allotted for

the candidates to read the

question paper.
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1. Select and write the correct answer :

if)

L7777

5x1=95

. Which one of the following is not

connected with Computer

Communication ?

a) . Internet

b) TV.T ransmission

c) | Full Duplex

d) Half Duplex.

Which of the following is not a
Boolean function ?

a) AND b) OR

c) NOT + d) FOR.
Which communication COVErs
largest area ?

a) Radio b) Cable

c) Microwave d) Satellite.
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iv)] Which one of the following is the

latest  computer programming

language ?

a) C-language b) FORTRAN
c) LINUX d) C++

Which one of the following is not a

property of Boclean Algebra ?
a)” Cnmmutative

b) - Associative

c) Distributive

d) Minimization.
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5. Answer in bricf the following: 5% 1=35

a) Write the output of .the logic

diagram given below : ©_ V@

A, T .
” : ok }_—-'V(Ou:puu
gD

b) - What is data transmission rate ?

c) Write full form of the following : a

ASCII

d) Whatis VDU ? Where is it used ?

e) Whatis LSI? Where do we use it ?
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3. Answer the following questions :
9x2=10

a) -Explain in brief the following :

i)  ~Bandwidth
iy Attenuation. - -~ /
b) Whatis X-Windows in Linux? &)

c) What are Library functions ? G_ii;f;
example. ' -7

'cl) What is operating system ? Give
example.

e) Write truth table for NAND and NOR

gates. ' /
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4. Answer all parts : : 5x2=10

a) Mention the names. of various
Network  Devices .and their

applicatioﬂs.
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.b) .What is Firewall ? Write its

| applications.

c) What is a MODEM ? Where is it

used and why ? .

d) What is the function of Fibre Optic

Cable ? Mention its adva?tages.

e) | What s E-mail ? Why is ‘it so
popular to-day ? |
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S. | Answer all th-e parts : 3x4=12

a) What is a bit ? Explain Nible, Byte,
Word and Word length.

b) What is a Truth Table ? Explain

with two examples.
c) What is meant by the following ?
i) Function
ii) String function
iii) | Concatenation
iw;r] Sub-routine.
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6. Answer all parts : 3x4=1;'2
a) Why is 'C' language popular to-day ?

b) What are the four main components

of C-language ?
c) . Explain - the 'character set of
C-language. -
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7 Make a flow-chart and write program in

'C' language for the following :

"Program to display all prime numbers

less than 100 in increasing order.’ 8
OR

Explain the following in relation to
'C' language :
a) Control statements

b) Input-output statements.

8 'C TS H T @, Tam S iEiEy

“FE 7,8 RO HF @S F e H 1" 8
Hedl

o e § T & e
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8. Make a [low-chart and also a program in
'C' language to print the "multiplication

table for 7, 8 and 9". L . 8
| OR
. Explain the following in 'C' language :
a) File I—landlirflg inC

b) Pointersin ‘C' language.
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